AUO000000000o0oooooobon

2004MMO03 OO DO
obooo:-0bo00o0

1 0000

goboo,0oobooooboooboooooooon
goooooo,0oooooboooooooobo.ooa, o
gboboooooooooboooo,0cooooocooobo
gboobooboo.cobooboobooooooon
gbooboooooooooobooooooooon.
oboo,00000boo0oboboooog, H,0oooo
gboboooooooooboooooo,oooocooobo
gboboooooboooboo,oboboobocooooon.

2 0OO0Odo

0000000000o0ooooo(@1yoooooo
gb.00o0booobo,0booobocobooooogon,
gboboboboooobooboooobooboobobaoon
gooobooooooo,booo0ooooooooon.

u1.o000ooo

3 H,OU0
ooooog

000001000000000,000000000
0000000000000000000000. 00
0000000000000000000000000
000200000000.0000000000000
00S=5xz00000007T =£-000000
00000000000000000W,,W,00000
oooo.

3.1

U20000o0o0

3.1.1 OOW,W,000

0000000000.86[keg000.01kg000000
D000000A,000,000086kg000000
0000000000,000000000000000
D00000,000001kg000000000000
D000000000000000000000000
D0O0W0A,000000W,=2820nnooo0
A,00000000000000000000000
D0. 00000000 00OW,0000000000
D000000000000000,00000000
Doow, = X etppgpgoo. 0ooooooo
0.01 [keg]0 000 A,,,0.3[kg]0 00 0 A,p,0.5kg]0 0 O
0A0W, 000000000, W,,W,0000000

goooo.

=
$HAR: Am2

- .
= z
10t 10 10° 1o 0" 102 10 0t

10° 10°
Frecuency [rad/s] Freauency [rad/s]

03 W, w,000

3.2 H.,000O

H. ,o00000o00oooooooooooooooon
oboobobo. oboboooboboboooooooo
ooooooobooon.

T = [T, T, Y, Tus, Tt
Tz = Az + Biw + Bou
z=C12 + Di1yw + Diou
y = Cox + Dojw

000,00002, 0000000x;,0004;,00
00000400004 W,000000000000
Tws(t), W,0 000000000002y, 000w, 00
00w, 000000z=[z1,22]7,000y000.

3.3 0000

oobooo0H O000ODOOOODDDDDOOOOOOO
O00000000ooooO0o0o0A0O, DOOOOO
0000000000000 00000D0000DelIO
oooobooboooooa.



3.4 0O0O0OO0OO
O0000000000K.Glover,J.C.DoyleDOOODO

gbooog.

4 0JUO0O0ooooooon

oboooooogd

_ 5(50s+1) ~10000(s+1)
00OW, =282t y, = W0tnggoooon

00000004000.000,G,000000000
0.86[kg]0 0 0 G0 0.01[kg]0 O O.

4.1

04 000000000

G.000000o0bG.00ooooo.ooogoo
000000000 A,00000000000D000O
goo,00oooooooooow,0boooooon
gobgogoobooboobooboobooobg.

4.2 QOOO0O0OOO0OO0OO0OO000

ooooboooooooooboooooooobooooon

gugboooboboobobooobboob. good
ggboaboooboooboobooobboooboa
g,b0ogbogboaoboobgobgooosooanod
gogo.

w2
w
4 +l'| 3
L

05 0000000000HO0CO

~100(s+1) _0.05(10s+1)
DO00000W, = getl W, = 280%tlnng
OW;04,00000000,000000000000

oboooooog.

o £48 1 \ o1
i Amz \

Ei%:G1
iR G2

107" 10°% 10 10! 0 2 4 6 8 10

10°
Freauency [rad/s] time(s)

O6OO0OW, A00000000C000

oboobooboboboooooooobooboono

oboocoooboooooooo,ocow,0000ooo
O00000O0Oo,0oooo0oDDo0oODDbD0O00G:,G,
00000, G0D0OO000D0000000D0O00D0OO
0. 0000000000 H 000000006000
ooo.

4.3 00O

goboooboobboobobooobbooon
goobooooobobobg,bbbogoobbbogoo
g,0bo0boooboooon.

t 03 e
0251 025 .
2 ozt H
3 3
$015¢ H

E#:G1
o1h $E#R: G2 o1

E#:01
FEiR: G2

O7000b00000obooooobooooon

gboboobooboooboobooooobooboono

gboobobobooooboo. oboboooooooo
gob,00o0o00ooboooooboooooboooon
oooobooooboooooa.

4.4 000

D000000W, = &, W, = 0010000, O

ooooooooooooboooo,G,0ooogooo
O,GO0000DOo0ooon.

Ei: GIORERIER ¢
PR GIOYzalb —vay s EALCRORBIER
/ AR Gevzalb —vay

5 5 5

0
time(s)

08 O000G,0Do00O0ooooGe.0000

G,,G,0 00000000000 ,00D000000O
oboocoooobooboooocobooboobobo. ooo,
obooooboooooboo,00boooobgoo
oo.

5 Uggn

H . O0O0O0DOOOOOODODOODOOOODOOo0OoO
0,00000000000000,H 00000000
goboooooooobo,0oboobo,boooaon
oooobooooooon.
ooooooobObObOOo0o0oooooooooooooon.

goon

1] 0000, 0000,00000MATLABOOOOOO
O0,000000000 (1998).



